AtSAL, HHEIZ] H/W 28 H271Y

0 N E-STO P SERVICE

EEE@®

MBdA PN Rzt HAE
CATIA/UG ANSYS AUTO CAD LH?**/JIIEAIo*

HZ2MM

For a Better life with Auto PM Tech

D osSecHle P T




10— o
314449 2219 (Inno-Biz) ¥4
PETRRETILITTrLT

s
Ve v
3
% -a08318~ 330
4 ae 14N 2207 A9 U — s
290 NI F20Y (Inno-Bizlt ¥ BY -
U

S TR TANG, ) Ol RHEREYA BEAEES PUBC

ey o4 sy

EEA R LBy

A 2
CERTIFICATE OF SUPPLIER QUALIT

TR A

SQalEA

tsadma: znaman g
D T T e \ IATF 16949:2016
A4 aans saaw
wan

LT e i N 36 weue .
TuEa - corvia 9w o) 4

A e Aug
HADE G UG IS0 BB 20 0 o i, i
(rodiyierirs

L g, G
ARSFUE R GO B TR A =
B8 9 NGRS 0 AZ A 9 et

WY RLE B

oAt B e A
b oL e e |
A7 RO R

wiud - e o =m
BRNH  TEM W AN A4
HEArA 7o YA E )

# e 10 e
ks BT
e

38 e suEr
3 N W e

[SUPFLIER QUALITY SUPPLIER QUALITY SUPFLIE

M= 2] 2

Equip Spec
Press 25 ~ 250 Ton
Multi Former 8 ~36Ton
CNC @0.2 ~ @70
™M #0.2 ~ @5.0
Welding Available

Assembling Available




NCE
2086

198641 ZHO[2H SHA A2 =X O Z 0[0fE!
QEIAUE|T | HAIS AJHSH E2ILICEH

2018.10. REXIAL M

2018. 04. IATF 16949 1=

2014. 10. &510| AP XtSkt HE2|AL XA
2013. 08. ZHEO|FH(ZE LA AT

2013. 06. SQ(Supplier quality) 21=

2012. 11. 1SO/TS16949 215

2011. 12. MSQ(Mobis Supplier Quality) 2!
2011. 09. 7|YPRAALA HE

2006. 08.
2005. 10.
2005. 08.
2004. 03.
2002. 10.

=
0

[E 2 o 12

0¥ 4o ofy

z |> 0

ofn om
=
ra

0% o
fot

1990. 12. SIAIO|FI(SLAMA| AFSE 7 PHE)

1986. 10.




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES *
FOR CUSTOMERS 7z: 354 o

e

e

Balance_Clip

85839-22000 85874-26000 85839-02000 ET168P MBKOO128AB SM7MC1 100mg

85839-3X000

SPECIFICATION
Z(mm)
ol A HEH2| ARB71A|
M2 | =0l
85839-22000 12 | 12 | 05| SK5M HZFC-A Multi Forming
85874-26000 16 [ 115| 05| SK5M PFZn-C Multi Forming | QB/AMC/BI3|  HKMC
85839-02000 | 8. 5 1125] 04 | SK5M HZFC-A Multi Forming 38 HKMC

Phosphated
Coating

MBKOO0128AB 1310 S50C GMW3044 Multi Forming RU FCA

Phosphated
Coating

ET168P . 276 . SK5M Multi Forming P32R RSM

SM7MC1 23 . S70C Multi Forming @] HKMC

Balance_Clip
_100mg

85839-3X000 12 . SK5M FLOCKING Multi Forming [SES) HKMC

2.2 . SK5M PFZn-C Multi Forming Daimler AG

w* GARNISH&DOOR TRIM ', _~ENGINE MOTOR

1. MBKOO128AB

Bal Clip_100i
2. 85839-3X000 alance_(lip_lUUmg

C-PILLAR --___
1. 85839-22000 h
2. 85874-26000
3. 85839-02000

B-PILLAR -~ A\ ‘ = 3 - A-PILLAR

1. 85839-22000 b == . 1. 85839-22000
2. 85874-26000 2. 85874-26000

3. 85839-02000 . 3. 85839-02000

HEAD REST -~ ASIST HANDLE
SM7MC1 ET168P




PRODUCT INTRODUCE

www.apmt.co.kr

CREATES VALUES *
FOR CUSTOMERS 7z: 354 o

101231-01 H0444748

SPO17P

T2 (mm)

=

101231-01

=0|

8.4

B060900530  SM1871  MT37151701  MT37151801 MT37151901

SPECIFICATION
A HHAZ| AE71A

SK5M PFZn-B Multi Forming

H0444748

6

SECC - Multi Forming TIXX

SPO17P

SUS301H Multi Forming X81C

B060900530

S60C Multi Forming P32R/LFD

SM1871

,_
S
w

SK5M Multi Forming RSM

MT37151701

O

SK5M Multi Forming KHODRO

MT37151801

SAIPA

SK5M Multi Forming BAHMAN

MT37151901

OH | OH
of | ofo | ofo

SK5M Multi Forming RSM

GARNISH&DOOR TRIM ---.__

1.101231-01
2. MT37151701
3. MT37151801

4. MT37151901

~SIDE MIRROR
H0444748

" GLOVE BOX
SPO17P




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

BUSHING = v0us

268908

SPECIFICATION
WIES] SPCC/ SUM24L / SWRCH10A / SWCH45F / SKTM11A / C2700

B PFZn-C,D / PFZnNi-C,D / GMW4700 A,B

AFR7|AH| Press / Former / CNCAHSMBE/ Multi Forming

XMEXE TL, AD, QL, FE, OS/ GEN2, B121 / Audi 48V / Porsche 12V / Faw H3

InELIN HKMC/ GM / AUDI / PORSCHE / FAW

CARTRIGDE /
BATTERY PACK




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z:::x

OB

SPECIFICATION
8.0~30
3.0~10
0.3~1.5

wz [ g | = o e
+0.025 | 40035 | +0.07 °e

PN ES S50C / SPCC/ SK5M / SUS S50C/ SPCC/ SK5M / SUS

=

PFZn-C/D PFZn-C/D
HHXZ| PFZnNi-D PFZnNi-D
MFCr10 MFCr10

High Speed Press / Press Press

IG/AD/AE/DE/YG/HI TL/ LF/JF
D2LC D2LC/ HZG

HKMC HKMC
GM GM/RSM

AO|=E Z=EHE THs JUE FEME THs




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

SPECIFICATION

JAES SPCC / SPHC / SECC / SK5M / SAPH440 / SPFC590 / SPFC440 / SPFH590 /
= SPFH540 / SGARC440

SEH(mm) 03~50

HEHXZ| FPI / FPO / PFZn-B,C,D / PFZnNi-B,C,D / HZFC-G / PFZnNi-BS & HZFC-A/D
ALEZ A Press / Multi Forming

MEXS AE EV, OS EV / C300, Y410 / B479 / JLR X590 / DF91 / TR8 / P32R, HZG
TIZHAL HKMC / SYMC / FORD / JAGUAR / Faraday Future / TOYOTA / RSM

SUN ROOF i AN ENGINE PUMP




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

SPECIFICATION

o1z

ALZ71A CNC

H&(mm) .5~(3. #0.3~@3.0

SWC/SWP-B/5SUS304 / SUS316

THE .
SUS631/SUS304Ni-CO

PFZn-B/C/D
PFZnNi-B/C/D
Blueing
PTFE
IZ-AD

TS
JLR 1663
PORSCHE E3 FC
VOLVO

HKMC
LANDROVER
PORSCHE
VOLVO

"~ ARM REST




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

SPECIFICATION

SWP / SWC/SWMB / SWRM / SWRCH10A / SUS304 / SUS631 / HSWR62A /
SWGD

@#1.0 ~ #12.0

PFZn-B,C,D / PFZnNi-B,C,D / MFCr10

CNC, Press, Multi Forming, Wire Bending Machine
HI, YG, OS, UM, JF, IK/ P32R /J300, O1SL

HKMC / RSM / GM

=- SUN VISOR

7 -~ NET HOOK




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z:::x

SPECIFICATION

OA847- 97232~ 13341-
05000 1H000 06887

135 22.5 19 20.9 24
1.8 16 131 14 15
1.7 10.9 85 8.2 10
0.7 1.0 1.0 0.7 1.0
M5 M6 M6 M5 M6
HZFC-A PFZnNi-D HZFC-A PFZn-D

MS11013801

Multi Multi Multi Multi
Forming Forming Forming Forming

prak=3 prak=3 pra k=3 prak=2
[SXS) [SXS) [SXS) [SXS)

HKMC HKMC HKMC HKMC




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

SPECIFICATION

13357~ 86679~
ITh -
=0 05036 1000 94515017 94515259  |84837-31000| MT37029501

712 12 18.3 1 1 14 12.2
N2 18.3 12 16 . 26 15.9
=0| 5 6.3 45 49 6 45
Sl 1.0 1.0 0.5 0.7 1.0 0.6
TAP M5 M5 M5 M5 M5 M3.5
HHXZ| HZFC-D - PFZn-B PFZn-C
NV Press Press Press

HEXE 58 58 QBR/HB 58

KHODRO
SAIPA
BAHMAN
RSM

HKMC

_.----AIRBAG




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

SPECIFICATION
THE C1100 / C2600 / C2680 / C1720/ C5210 &

S (mm) 0.3t ~ 5.0t
Hox{2| Sn-Plating / Au-Plating / Tin(Sn)-Plating / Ni-Plating / MBNi1 / Ag-Plating
A7 (A Press / Multi Forming / Reel
HEXS LF, IG, RG3, AD,AE EV / C300 / C519 / G2KCA
HKMC / SYMC/ FORD / GM

W - - - WHEEL /
| CONNECTOR/
DCT




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

j/
\‘_//

SPECIFICATION
16.0]18.0| 7.0 [10.0
801902330
(mm) 6]35]43]52]61]69]78]10]13
0808|0203
T SK5M SSKSQ/'
HEHXE| Black Oxide Blla,:czl;(_)é;ge
AHE7|A| Press

HEXE XIS P32R

2L HKMC

H|lD E-RING 3~9t 7|E} AFOIX ZE2/|E Tt

BACK COVER




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS =::::

SPECIFICATION

G 0.8~12 2.4~12.7

M 10.4~28.2 12.2~20.4
3.2~6.48 3.2~4.9
6.6~16.2 5.5~9.6
1.3~2.8 1.1~1.6
1.8~4.2

DUCT INTAKE




PRODUCT INTRODUCE

CREATES VALUES

FOR CUSTOMERS

A 71|

YAt 0

il hnl
HMES 38

IN
S|

|
b

SPECIFICATION

Multi Forming

Multi Forming

www.apmt.co.kr

Multi Forming

Multi Forming

=
/A4Z(mm)

t0.8

t0.7

t0.8

1.2

SUS304

SK5M

SK5M

SK5M

PFZn-C

HZFC-DS

PFZn-B-H

cD

TQ-PE/FE/MD/
DM/YDM

TF F/L/UM/DM/
NC

k=)
[=X=)

HKMC

HKMC

KHODRO
SAIPA
BAHMAN
RSM

NOZZLE

TELESCOPE




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

SPECIFICATION
C3604, SUM24L, SUM22 & SWCH10A, SWCH45F &

M3x0.5p M3x0.5p
M4x0.7p M4x0.7p
M5x0.8p M5x0.8p
M6x1.0p M6x1.0p
M8x1.25p M8x1.25p

PFZn-C,D PFZn-C,D
PFZnNi-C,D PFZnNi-C,D
GMW 4700 GMW 4700

2 H/CHH =0| LHd(tap) | <AZ/ChHA =0|
-0.02/£0.03 | +0.03 1=2/2&g | -0.05/£0.05| =£0.05
Cutting Forging

Porsche 12v, FCA 48v, PRA, ESS, BMW 12v, BMW 48v S
Ford, Porshce, FAW, FCA, BMW, LGats!, LGHX}, AERRIR &

AO|=E FEMIE 7Hs ‘ AIO|Z=E =EME THs

AIR BAFFLE

"~ CARRIER




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7z: 3500

SPECIFICATION
THE SWCH10A, SWCH18A

4 M3 ~ M10
HMHX 2| PFZn-C,D / PFZnNi-C,D / HZFC-A,D / MAGNI &
INE=SIV Former
XS

HKMC/ RSM

"~~~ QUADRANT
COVER

"~DOOR TRIM




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES *
FOR CUSTOMERS 7z: 354 o

e —E |
3—
THmm e 2R
e %
(max)
48
48

AHE - HH
A 2|

TIZHA
Zx} 717 AL

-1
AT

+0.1/-0.05
+0.1/-0.05
+0.1/-0,05 | Heading
205 008 | swRaon | g
+0.15/-0.05 | Machine
+0.2/-0.08
+0.2/-0.08

+0.03/-0.02

2
0
<
oy

2
0
<
oy

2
0
<
oy

2
0z
oy

[l

0% | 0
||l |o|lo)lo] o]t

ox

2
oY | oM

2
0
oy

2
0
oy

s45C
+0.03/-0.02 SUM22 | PFZn-C/BID

40.05/-0.02 SUM24L | PFZnNi-C/B/D
SUS304

FSbSES HKMC
JLR L663 | LANDROVER
O1sL GM

2
0
<
oy

2
0

2

0

| <
oy

+0.1/-0.03

FLOOR CONSOLE
TRANSEVERSE




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS %:::

BUSBAR HI1 ol x| HE 2 HiEE| 28 SUHE

i >

THE

SPECIFICATION
1100 / C1020 / C1220

SH(mm)

1.0~5.0

HHA

Sn-Plating / Ni-Plating / Epoxy / Tube

A7 A

Press

HEAS

Porsche 12v / BMW 48v / BMW 12v / Ford 48v / ESS

Porsche / BMW/ Ford

———————— BATTERY




PRODUCT INTRODUCE

CREATES VALUES

FOR CUSTOMERS

ASSEMBLY -:- ==
HgHZ e B2 BENE

PP+TLC20%

=
Cover-Foot Rset

A= 1
K=Xrs §
=2 o

HME

HK
S|

www.apmt.co.kr

|
b

28
=1
=

FOOT

REST SUS Cover Foot

Rest

SUS304HL

Nano
Coating

AD/DE/PD/
PDE / CK/ LF
/DH

Bracket

SPHC

FPO

Shaft

SUmM24L

PFZn-C

HINGE Spring

SUS304

Assembly Spring Plate

POM

(Free stop

type) Washer

SPCC/POM

PFZn-B

PFZn-B /-

Bolt

SCM435

NUT

SCM435

PFZn-B
FPO

Bracket

SPHC

Shaft

SWRCH10A

PFZN-C/D

Spring

SWP

PFZn-C/D

Bush

POM

E-ring

SK5M

Black Oxide

Stopper

TPE

Damper

PO

M

Body

ZNDC

Shaft

Sum24L

PFZnNi-C

TORQUE Clip

SK!

5M

HINGE
Washer

HINGE
Assembly
(Pop up

type)

SECC

E-ring

SK5M

Black Oxide

HKMC

Faraday
Future




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS 7::::

SEX{O|

&
tod

ASSEMBLY .- .-

oy Mg o= WS EdubsE
RAIL Steel Ball SUS304 -
Retainer POM -

Cover PA6-044 -

ISOFIX COVER Cap PA6-044 -
Assembly Shaft SWRCH10A

Spring SWP

Fording Knob PA6-044

Housing PA6-044
LEVER Shaft SWP

Assembly- Plate Spring SUS304 -
LATCH

E-ring SK5M Black Oxide

Stopper TPE -

Holder Bush POM -

D \/’ﬁ/‘ NN

T - ;@7 -4---- FOOT REST

"~ RAIL UNIT/HINGE ASSY




PRODUCT INTRODUCE www.apmt.co.kr

CREATES VALUES
FOR CUSTOMERS %:::

WELDING COMPONENT o0 s ey s 2

SPECIFICATION

M2z Sub Process

Bracket Weld Nut Spot Welding

Xt&st Spot
Welding

Repeating Frame Fin

Assembly FCA 48v | LGC/FCA

Repeating Frame Fin

Busbar Assembly Sensing Terminal Spot Welding ESS LGC

RETAINER-WHEEL COVER Friction Welding P32R RSM

e

o -—--- 20 l fffffff ESS BUSBAR

i




www.apmt.co.kr

PUIZ HoI0IMRARI SR ES|AL
Pudong New Area, Shanghai, China

E&/APMT

FRETAE I
FEXIAL

I =N

AUTOPRECISIONMACHINERYTECH

BHHE LA HETIS THOIE 305
Tel. 055)351-3842 Fax. 055)351-3846
apmt86@apmt.co.kr




